0 0 0 04 paz1|13n SINOY J933un|op
0 0€ 1z 0 (s21eIqI| J9YI0 W0J)) sSmoioq Aleiqijiau|
0 0 0 0 (sa14eiql] 19410 01) sueo| Aieiqi4a1u|
ol 453 80¢ 0L JeaA 19d pasamsue suoldesuel} 9dUI9)9Y
o 970 ¥C0 6L°0 9}ey JaAouin] uol3d9||0d)
SL0T A4 10T Ad €10Z A Z10T A4
siojedipuj peopjiop
0z8'L ¥81°C 414 080'C 1eak 1ad dyjesy buip|ing
€8 9€6 8T/ 9€6 1eaA 13d sia1ndwod dijgnd buisn 9jdoad
9¢ A4 6¢< T4 sweiboid e sduepuaIyY
14 1% 9 14 1edA 1ad pajuasaid sweiboud jo ssquinN
08t'L 09<’L 066'L 04S'L 1eaA 1ad 1n0 paydayd sjersslew Aeiqiy
LSS LSS LSS LSS 1eak yoes Joj uonze|ndod 301AI3S pajeWIISS UO paseg
GEOVLS 6LL'ELS 66L'LLS 124AR4NS sainypuadx3y Areiqiy
SL0T A4 10T A €10T A T10T A4

wodssaidpiromAieiqgiplgnduoiuspmmm

L£ST-£9S (90P)
0€¥6S ‘LN uowuaQ 986 x0g Od

S2.INSE3\ dULWIOLIDJ

Aieaqi dijgnd uojuaqg





